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(nt) (kN/nt) (kN/ ) a B y (kN)
3
2Pk 39,75 X ( 0.56 |+ 0.00 |) X 1.00 | X 1.00 | X 1.00 | X 1.00 22. 26
1p 53.41 0.78 0.00 1.00 1. 00 1. 00 1.00 41. 66
25 55 0 B U A A PRS2 )
BRA (X HR1/4)
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R VER || B 7 H | B | B ar
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3
2 13.25 0. 56 0.00 1.00 1. 00 1.00 1.00 7. 42
1P 16. 56 0.78 0.00 1.00 1.00 1.00 1.00 12.92
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2Pk 6. 62 0.56 0.00 1.00 1. 00 1. 00 1.00 3.71
1p 8. 28 0.78 0.00 1. 00 1. 00 1. 00 1. 00 6. 46
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No.| dX dy | sEE((FwX | 1) ) XKj F | Qui Qoi [ HEH = A b
(kN/m) | (m) X (Ka) Y
W1 1.365]10.010] a | 4.90] 0.910 0.505 | | 2.252 O
W4 2.275[10.010| a | 0.30] 0.910 (1. 000) 0.273
W16 3.640[10.010| a | 0.60] 1.820 (0. 500) 0. 546 -
Wiy 4.095] 8.190| a | 2.20] 0.910 0.960 | | 1.922 i
W43 5.005] 8.190| a | 0.60] 0.910 (1. 000) 0. 546
W4l 4.550 ] 7.280 [ R 0.30] 0.910 (0. 000) 0. 000
W4 5.460 | 7.280 | R 0.60| 0.910 (0. 000) 0. 000
Wil 1.365] 5.460 | R 1.80] 0.910 1000 | | 1.638 i
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W44 1.365| 4.550 | F]  0.60 | 0.910 (0. 000) 0. 000
W21l 2.275| 4.550 | 1 0.60 | 0.910 (0. 000) 0. 000
W22 3.640 | 4.550 | H1|  0.30 | 1.820 (0. 000) 0. 000
W47 5.005 | 3.640 | H]  0.30 | 0.910 (1. 000) 0.273
o9 6.825 | 3.640 | R 2.20] 2.730 0.980 | | 5.886 i
o5 1.365] 0.910] b | 3.30] 0.910 0.785 | | 2.357 iii]
W45 2.730] 0.910] b | 0.60] 1.820 (1. 000) 1.092
Wog 4.095] 0.910] b | 3.30] 0.910 0.785 | | 2.357 iii|
W36 5.005] 0.910] b | 3.30] 0.910 0.585 | | L.757 O
W37 6.370] 0.910| b | 0.30] 1.820 (1. 000) 0. 546
W07 7.735] 0.910] b | 5.20] 0.910 0.480 | | 2.271 OF-
2[22.900 | 3.276
HEAOBEROHE: TXTONERENGOO /AT TN TOEFA, AROEENOEEL T EID
1P | Qwx=2 Qwxi E B OBEME S Qex=2 Qwoiw HERH O BERIH ) Qwox || Qux=Qwx+Qex Qux=Qwx+Qwox
all 92.900 0. 000 2. 176 92. 900
a 4. 174 5. 539
el 9. 981 10. 254
b 8. 742 10. 380
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¥ Y Jia BEOm OB H
L vE | #EE
HEAR it | ER | wn s Sl
No.| dX dY | fEE(Fwx | 1) | +pw ) XKj F | Qui Qoi [ HEH = A b
(N/m) | (m) &) | X (Ka) IV
a9 0.910] 1.820| £ | 3.30] 1.820 0.785 | | 4.715 i
ol 0.910] 3.640| £ | 3.30] 1.820 0.892 | | 5.357 il TH
o2 0.910] 5.005| 4| 3.30] 0.910 0.892 | | 2.679 il TH
o3 0.910] 6.825| 4| 3.30] 2.730 0.785 | | 7.072 il [H
o4 0.910] 9.100] 4| 3.30] 1.820 0.585 | | 3.514 Ol H
od 1.820] 5.005] 4 2.20] 0.910 0.980 | | 1.962 i
Wod 3.640] 6.370 [ R 0.30] 1.820 (1. 000) 0. 546
W4 3.640 | 7.735 [ R 2.20] 0.910 1000 | | 2.002 1]i
oo 4.550 | 1.365 | R 4.10] 0.910 0.745 | | 2.780 i
g 4.550 | 2.730 | R 0.30] 1.820 (1. 000) 0. 546
W34 4.550 | 4.095 | R 4.10] 0.910 0.873 | | 3.257 i
W3q 4.550 | 9.100 | R 0.60 | 1.820 (0. 000) 0. 000
W26 5.005 | 7.735 | 1] 0.00 | 0.910 (0. 000) 0. 000
W24 5.460 | 4.550 | FE]  0.30 | 1.820 (0. 000) 0. 000
W17 5.915 | 6.370 | F]  0.30 | 1.820 (1. 000) 0. 546 4
Wor 5.915| 7.735 | ] 3.30| 0.910 0.585 | | 1.757 O
Wod 6.825] 4.095] m | 0.30] 0.910 (1. 000) 0.273
W30 6.825| 5.005| m | 2.20] 0.910 0.980 | | 1.962 i
W4 8.190] 2.275] m | 0.60] 1.820 (0. 000) 0. 000
Wog 8.190| 4.550 | = | 2.20] 1.820 0.960 | | 3.844 4
»[40.900 | 1.911
HEAOBEROHA: TXTONEREINBOO /AT TN TOEFA, AROEENOEEL T EID
1| Quy=2Quyi B DB /) Qey=2 Qwoiw HERR O BESR /) Quoy || Quy=Qwy+Qey Quy=Qwy+Qwoy
all 40. 900 1.911 0. 000 42.811 40. 900
1 25. 299 0.000 25. 299
i 9. 796 1.638 11. 434
o 5. 806 0.273 6.079
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LT (S
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HEAR it | ER | wn s Sl
No.| dX dY | fEE(Fwx | 1) | +pw ) XKj F | Qui Qoi [ HEH = A b
(N/m) | () ) | X (Ka) TV
W12 1.365]10.010] a | 4.90] 0.910 0.655 | | 2.921 OH
W40l 2.275]10.010[ a | 0.30] 0.910 (1. 000) 0.273
W16 3.640 [ 10.010[ a | 0.60] 1.820 (0. 500) 0. 546 [
W13 4.095] 8.190 a | 2.20] 0.910 1.000 | | 2.002 i
W43 5.005| 8.190| a | 0.60] 0.910 (1. 000) 0. 546
W41l 4.550 | 7.280 [ PR 0.30] 0.910 (0. 000) 0. 000
W42 5.460 | 7.280 [ iR 0.60 | 0.910 (0. 000) 0. 000
W10 1.365| 5.460 | R 1.80] 0.910 1.000 | | 1.638 i
W11 3.412| 5.460 | i 1.80 | 1.365 1.000 | | 2.457 i
W3 6.370 | 5.460 | i 0.60 | 0.910 (0. 000) 0. 000
W1 7.508 | 5.460 | i 0.60 | 1.365 (0. 000) 0. 000
W33 2.275| 5.005 | o[ 0.00] 0.910 (0. 000) 0. 000
W44 1.365| 4.550 | AR 0.60 | 0.910 (0. 000) 0. 000
Woll 2.275| 4.550 | thEE  0.60 | 0.910 (0. 000) 0. 000
W22 3.640 | 4.550 | thRE  0.30 | 1.820 (0. 000) 0. 000
W47 5.005 | 3.640 [ thEE  0.30 ] 0.910 (1. 000) 0.273
o9l 6.825| 3.640 | thRE 2.20] 2.730 1.000 | | 6.006 i
W05 1.365] 0.910] b | 3.30] 0.910 0.977 | | 2.934 iii| P
W45 2.730 0.910] b | 0.60] 1.820 (1. 000) 1. 092
Woe 4.095| 0.910] b | 3.30] 0.910 0.977 | | 2.934 iii| 4
W36 5.005] 0.910] b | 3.30] 0.910 0.735 | | 2.207 O
W37 6.370] 0.910] b | 0.30] 1.820 (1. 000) 0. 546
Wo7 7.735] 0.910] b | 5.20] 0.910 0.620 | | 2.934 OH
[ 26.033 | 3.276
MR OBERDHE: TRTOIMERRAB IO I/ACEENTOVETA, AROBEENSEEL T EEN
1P | Qwx=2 Qwxi E B OBEME S Qex=2 Qwoiw HERH O BERIH ) Qwox || Qux=Qwx+Qex Qux=Qwx+Qwox
all 26. 033 3.276 0. 000 29. 309 26. 033
a 1,923 1. 365 6. 283
i 10. 101 0.273 10. 374
b 11. 009 1. 638 12. 647
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¥ Y Jia BEOm OB H
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HEAR it | ER | wn s Sl
No.| dX dY | fEE(Fwx | 1) | +pw ) XKj F | Qui Qoi [ HEH = A b
(N/m) | (m) &) | X (Ka) IV
a9 0.910] 1.820| £ | 3.30] 1.820 0.977 | | 5.868 i
ol 0.910] 3.640| £ | 3.30] 1.820 0.985 | | 5.916 il TH
o2 0.910] 5.005| 4| 3.30] 0.910 0.985 | | 2.958 il TH
o3 0.910] 6.825| 4| 3.30] 2.730 0.985 | | 8.874 il TH
o4 0.910] 9.100] 4| 3.30] 1.820 0.735 | | 4.414 Ol H
od 1.820] 5.005] 4 2.20] 0.910 1.000 | | 2.002 i
Wod 3.640] 6.370 [ R 0.30] 1.820 (1. 000) 0. 546
W4 3.640 | 7.735 [ R 2.20] 0.910 1000 | | 2.002 1]i
oo 4.550 | 1.365 | R 4.10] 0.910 0.917 | | 3.421 i
g 4.550 | 2.730 | R 0.30] 1.820 (1. 000) 0. 546
W34 4.550 | 4.095 | R 4.10] 0.910 0.945 | | 3.526 i
W3q 4.550 | 9.100 | R 0.60 | 1.820 (0. 000) 0. 000
W26 5.005 | 7.735 | 1] 0.00 | 0.910 (0. 000) 0. 000
W24 5.460 | 4.550 | FE]  0.30 | 1.820 (0. 000) 0. 000
W17 5.915 | 6.370 | F]  0.30 | 1.820 (1. 000) 0. 546 4
Wor 5.915| 7.735 | ] 3.30| 0.910 0.735 | | 2.207 O
Wod 6.825] 4.095] m | 0.30] 0.910 (1. 000) 0.273
W30 6.825| 5.005| m | 2.20] 0.910 1.000 | | 2.002 i
W4 8.190] 2.275] m | 0.60] 1.820 (0. 000) 0. 000
Wog 8.190| 4.550 | = | 2.20] 1.820 1.000 | | 4.004 4
y[47.194] 1.911
HEAOBEROHA: TXTONEREINBOO /AT TN TOEFA, AROEENOEEL T EID
1| Quy=2Quyi B DB /) Qey=2 Qwoiw HERR O BESR /) Quoy || Quy=Qwy+Qey Quy=Qwy+Qwoy
all 47.194 1.911 0. 000 49. 105 47.194
1 30. 032 0.000 30. 032
i 11. 156 1.638 12. 794
o 6. 006 0.273 6. 279

XEeEWHEAO 1] 1%, Wi (W) OBET, &8 1 Oz R+

KEWHEB O Tii| (X, HEOmRNAE LHEOBET, WO %2R~




HIEEEEY) (2019/11/22 14:13)

2B X Jiin BEDIH ) DR

(% 6 m-5)  (HESHF)

e HEFLYE g | e
8 i /1 - (2R [ ARR L KB
No.| dX dY | fEE(FwXx | 1) |Hpw | ) XKj E|Qui Qoi Wy s A b
(kN/m) | (m) (kN) X (Ka) I
W02l 1.820| 8.190| a 5.20] 1.820 0. 440 4. 164 H|OFm
Wog 3.640 | 8.190| a 5.20] 1.820 0. 440 4. 164 il @)
Wo4 1.820 | 5.460 | [ 3.80| 1.820 0. 310 2. 144 O
W31 3.640 | 5.460 | 4[| 0.30| 1.820 (1. 000) 0.546
W16 5.005| 5.460 | B/l 3.30| 0.910 0. 335 1. 006 O
W24 6.370 | 5.460 | B[l 0.60 | 1.820 (1. 000) 1.092
W17 7.735| 5.460 | B[l  3.30| 0.910 0. 335 1. 006 O
W18 2.730 | 4.550 | H1f& 0.00| 1.820 (0. 000) 0. 000
W14 5.005| 4.550 | H1f& 2.20| 0.910 1.000 2.002 ilO
Wo5 1.820 | 3.640 | HfA] 2.20| 1.820 1.000 4. 004 10
W29 3.640 | 3.640 | H1fA 0.30| 1.820 (1. 000) 0. 546
W07 5.005| 3.640 | H1f& 2.20| 0.910 1.000 2.002 ilO
W09 5.005| 1.820| b 5.20| 0.910 0.245 1. 159 O
W22 6.370 | 1.820| b 0.30 | 1.820 (1. 000) 0. 546
W20 7.735| 1.820| b 5.20| 0.910 0.245 1. 159 O
W13 1.365| 0.910| b 5.20| 0.910 0. 440 2.082 ii|O)
W21 2.730 | 0.910| b 0.60 | 1.820 (1. 000) 1.092
Wil 4.095| 0.910| b 5.20 0.910 0. 440 2.082 il @)
| 26.970 | 3.822
WO OBEROFE: TN TONERRNGEN O/ ACEENTOERA, AROEENOHEL TSN
20% | Qwx=X Qwxi A BH D BEMT /7 Qex=X Qwoiw R CBESRH /) Qox || Qux=Qwx+Qex Qux=Qwx+Qwox
all 26.970 3.822 0. 000 30. 792 26. 970
a 8. 328 0. 000 8. 328
| 12. 164 2.184 14. 348
b 6. 482 1. 638 8.120

XEeEWHEAO 1] 1%, Wi (W) ORET, &8 1 Oz s+
XEMEBEO i) 13, HEOmE @ UEORET, @M o251




FIZEE (2019/11/22 14:13)

2B Y Jii BEOI ) OEH

(% 6 m-6) (HESHF)

- BE S . | A
& it /) - (2R [ ARR L KB
No.| dX dy | fEE(EwXx | 1) | +pw ) XKj E | Qwi Qoi Wy LR = A b
(kN/m) | (m) (kN) | X (Ka) S
W12l 0.910| 1.365| A 5.20] 0.910 0. 440 2.082 il @)
W28 0.910| 2.730| A 0.60 | 1.820 (0. 549) 0. 600
W27 0.910| 4.550 | A 0.60 | 1.820 (0. 549) 0. 600
W26 0.910| 6.370 | A 0.60 | 1.820 (0. 549) 0. 600
W01 0.910| 7.735| A 2.401 0.910 0. 660 1. 441 @) |‘
W34 3.640 | 5.005 | [l 0.00| 0.910 (0. 000) 0. 000
W10l 4.550 | 1.365| B[l 5.20| 0.910 0. 440 2.082 il @)
W30 4.550 | 2.730 | H[&| 0.60| 1.820 (1. 000) 1.092
W15 4.550 | 5.005 | Hf& 2.20| 0.910 0. 680 1. 361 il @)
W25 4.550 | 6.370 | HfA] 0.60| 1.820 (1. 000) 1.092
W03 4.550 | 7.735 | HfA 3.30| 0.910 0.578 1.736 iii|OH
WO§ 5.460 | 2.275 | HfA 2.20| 0.910 0.630 1. 261 O
W33 5.460 | 3.640 | HfE 0.30 | 1.820 (1. 000) 0. 546
W32 5.460 | 5.005 | Hf# 0.60 | 0.910 (0. 500) 0.273
W19 8.190 | 2.730 | = 3.30 | 1.820 0. 335 2.012 O
W23 8.190 | 4.550 | = 0.60 | 1.820 (1. 000) 1.092
Y| 11.980 | 5.895
BEHOBEROHE: TN TONERRAEN D I/ACEENTOERA, ARDEENSETEL TSN
2B | Qwy=X Quyi B D BEM /) Qey=2 Qwoiw HERA D BEE ) Quoy || Quy=Qwy+Qey Quy=Qwy+Qwoy
all 11. 980 5.895 0. 000 17.875 11. 980
A 3. 523 1. 800 5.323
R 6. 440 3.003 9. 443
o 2.012 1.092 3.104

XEWHEAO [ 1%, msen (W) OBET, &9 1 Oz~
XEMEBEO i) 13, HEOmE @ UEORET, @M o251




HEEHE) (2019/11/22 14:13) W6 -1 SRS (BERK)
2pE X iR BEDIR ) OFEH
L vE | #EE
HEAR it | ER | wn s Sl
No.| dX dY | fEE(Fwx | 1) | +pw ) XKj F | Qui Qoi 17 M R SV
(kN/m) | (m) (kN) X (Ka) I\
W02 1.820] 8.190] a | 5.20] 1.820 0.640 | | 6.057 i OFA
oo 3.640 | 8.190| a | 5.20] 1.820 0.640 | | 6.057 iii|O
o4 1.820 [ 5.460 [ AR 3.80 ] 1.820 1.000 | | 6.916 ijo
W31 3.640 | 5.460 | PR 0.30 | 1.820 (1. 000) 0. 546
W16 5.005| 5.460 | R 3.30 | 0.910 1.000 | | 3.003 ilo
Wod| 6.370 | 5.460 | PR 0.60 | 1.820 (1. 000) 1.092
W17 7.735| 5.460 | AR 3.30 | 0.910 0.727 | | 2.183 @
Wi 2.730 | 4.550 | o[ 0.00 ] 1.820 (0. 000) 0. 000
W14 5.005 | 4.550 | iR 2.20 ] 0.910 1.000 | | 2.002 ijo
W05 1.820 | 3.640 | tpRE[ 2.20] 1.820 1.000 | | 4.004 ijo
Wool 3.640 | 3.640 | thE  0.30 | 1.820 (1. 000) 0. 546
W07 5.005| 3.640 | thRE  2.20] 0.910 1.000 | | 2.002 ijo
o9 5.005] 1.820] b | 5.20] 0.910 1.000 | | 4.732 ijo
o2 6.370] 1.820] b | 0.30] 1.820 (1. 000) 0. 546
ool 7.735] 1.820] b | 5.20] 0.910 0.590 | | 2.792 O
W13 1.365] 0.910] b | 5.20] 0.910 0.640 | | 3.028 iii]O
ol 2.730] 0.910] b | 0.60] 1.820 (1. 000) 1. 092
W1 4.095] 0.910] b | 5.20] 0.910 0.640 | | 3.028 iii|O
[ 45.804 | 3.822
R OBEROHE: TRTOMERREMEOHI/AUCEENTOVERA, AHOBEENSEEL TSN
2B | Qwx=X Qwxi A BR OB /) Qex=2X Qwoiw MR D EERTH S Qwox || Qux=Qwx+Qex Qux=Qwx+Qwox
all 45. 804 3.892 0. 000 19. 626 45. 804
a 12. 114 0. 000 12. 114
i 20. 110 9. 184 99.994
b 13. 580 1. 638 15. 218

XEeEWHEAO 1] 1%, Wi (W) ORET, &8 1 Oz s+

XEMEBEO i) 13, HEOmE @ UEORET, @M o251




FEEHEM) (2019/11/22 14:13) (% 6 H-8) ZMEHI (BEH)
oWk Y Ji BEOMm A OFE M
- BEJLYE . | BEA

& it /3 - Mt | A Sarredt

No.| dX dY | fEE(Fwx | 1) | +pw ) XKj F | Qui Qoi 17 M R SV
(kN/m) | (m) (kN) | X (Ka) V[
W12 0.910 | 1.365| A4 | 5.20] 0.910 0. 640 3.028 iii|O)
W28 0.910 | 2.730| A | 0.60| 1.820 (0. 549) 0. 600
W27 0.910 | 4.550 | A | 0.60| 1.820 (0. 549) 0. 600
W26 0.910 | 6.370 | A | 0.60| 1.820 (0. 549) 0. 600
W01 0.910 | 7.735| A | 2.40| 0.910 0. 900 1. 966 i[O H
W34 3.640 | 5.005 | H1fE  0.00 | 0.910 (0. 000) 0. 000
W10l 4.550 | 1.365 | H1[E 5.20 | 0.910 0. 640 3.028 i[O
W30 4.550 | 2.730 | HifE  0.60 | 1.820 (1. 000) 1. 092
W15 4.550 | 5.005 | H1fE  2.20| 0.910 1. 000 2. 002 e
W25 4.550 | 6.370 | Hi[E  0.60 | 1.820 (1. 000) 1. 092
W03 4.550 | 7.735 | [ 3.30| 0.910 0. 735 2.207 iiiOH
W08 5.460 | 2.275 | HifEH  2.20| 0.910 1. 000 2. 002 e
W33 5.460 | 3.640 | HfE 0.30 | 1.820 (1. 000) 0. 546
W32 5.460 | 5.005 | HfE 0.60 | 0.910 (0. 500) 0.273
W19 8.190 | 2.730 | = | 3.30| 1.820 0.727 4. 366 O
W23 8.190 | 4.550 | = | 0.60| 1.820 (1. 000) 1. 092
¥| 18.599 | 5.895

R OBEROHE: TRTOMERREMEOHI/AUCEENTOVERA, AHOBEENSEEL TSN
2B | Qwy=X Quyi A B D BEMT /7 Qey=X Qwoiw TR O BESRT /) Qwoy || Quy=Qwy+Qey Quy=Qwy+Qwoy
all 18. 599 5. 895 0. 000 24, 494 18. 599
4 4,994 1.800 6. 794
i 9.239 3.003 12. 242
= 4. 366 1. 092 5.458

XEWHEAO [ 1%, msen (W) OBET, &9 1 Oz~
XEMEBEO i) 13, HEOmE @ UEORET, @M o251




HEEHE) (2019/11/22 14:13) (% 7 M)
RO ELOFHE
1

Ail TR 73 (m) Yil Ail-Yil| Xil Ail - Xil]
No. k() [ [EaEm a b 1 B (m) | (m®) (m) (m®)
1A01 13.2500 1.0 13. 250 8.281  6.625 2.730 36.171 | 2.730 36. 171
1402 1.242 1.0 1.242  0.621 7.735 9.608 | 4.322 5. 369
1403 9.937 1.0 9.937 8. 281 4.969 2.275 22.607 | 6.370 63. 300
1404 6.625 1.0 6. 625 3.312  4.550 30.143 |  6.370 42. 200
1405 3.312 1.0 3.312 1. 656 5. 005 16.579 | 2.730 9.043
1A0 7.453 1.0 7.453  1.242 4. 969 6. 825 50.866 | 2.275 16. 955
1A07 0.828 1.0 0.828  0.414 7.735 6.405 | 5.460 4.521
1408 6.625 1.0 6.625  6.625 3.312 9.100 60.286 | 2.730 18. 086
1409 4,141 1.0 4,141 6. 370 26.375 | 4.777 19. 781
)y 53.4100  8.902 16.562 16.562  8.281 259. 040 215. 426
2

Ai2 TR N5y (m) Yi2 Ai2 +Yi2 | Xi2 Ai2 « Xig
No. [BME(nl) R [ A 2 b ¥ B | m ) m | md
2001 9.937 1.0 9.937  6.625 4. 969 6. 825 67.821 | 2.730 27.129
2702 9.937 1.0 9.937 6.625  4.969 2.275 22.607 | 2.730 27.129
2103 6.625 1.0 6. 625 3.312 4. 550 30.143 | 2.730 18. 086
2004 9.937 1.0 9.937 2. 484 6.625  3.640 36.171 | 6.825 67.821
2105 1.656 1.0 1. 656 0. 828 2.730 4.521 | 5.005 8. 289
2106 0.828 1.0 0. 828 4.095 3.391| 5.005 4.145
2007 0.828 1.0 0. 828 5. 005 4.145 | 5.005 4.145
by 39.7500  6.625  9.937 13.250f  6.625 168. 799 156. 744

2 BEET  EOE  BEEE, TEERD ., K B

Xgl =

Yel =

Xg2 =

Yg2 =

2.0(X AL+ Xil)+ 2.6(ZAi2 - Xi2) )
2.02A1I1 + 2.6 2Ai2 -
2.0(ZAil-Yil)+ 2.6(2Ai2-Yi2)
2.02A1I1 + 2.62Ai2 -
2.0(ZAi2 » Xi2)
5 03 AL 3.943(m)
2.0(ZAi2 » Yi2)
4. 247 (m)

2.02A12

3.989 (m)

4.553(m)



HIEEEEY) (2019/11/22 14:13)

(% 8 mmi-1)

(FEEHF)

1R 0 DR (BEILHEM /)0 HEHED) A B 0 OBE IR L 72w

Vi Pwix Xi Pwiy

No. dy Lx Lx-dy dy-vys Lx(dy*ys)2 dx Ly Ly-dx dx-xs Ly(dX*Xs)2
o1 0.910]  5.357 4.875 | -1.897 19. 278
1102 0.910 |  2.679 2.438 | -1.897 9. 641
103 0.910|  7.072 6.436 | -1.897 95. 449
104 0.910| 3.514 3.197 | -1.897 12. 646
W05 0.910 |  2.357 9.145 | -3.022 21.525

Wog  0.910]  2.357 9.145 | -3.022 21.525

W7 0.910] 2271 2.067 | -3.022 20. 740

o 8.190 | 3.844 31.481 | 5.389  111.386
oo  3.640 |  5.886 91,425 | 0. 292 0. 502

Wi 5.460 |  1.638 8.943 | 1.528 3.824

Wil 5.460 |  2.457 13.415 | 1.528 5. 737

Mg 10.010|  2.252 92.540 | 6.078 83. 194

Wiy 8.190|  1.922 15.741 | 4.258 34. 847

W4 3.640 | 2.002 7.987| 0.833 1. 389
20 4.550 | 2.780 12,647 1.749 8. 446
W7 5.915 | 1757 10.391] 3. 108 16. 972
Wog 1.820|  1.962 3.571 | —0.987 1.911
W30 6.825|  1.962 13.390 | 4.018 31. 675
i34 4.550 | 3.257 14.820 | 1.743 9.895
W36 0.910 |  1.757 1.599 | -3.029 16. 046

fi49 0.910 | 4.715 4.290 | -1.897 16. 967
S 92.900 90. 020 207. 940 40.900 | 114.823 265. 655
ML Ysl =% (Lx-dy)/2Lx = 3.932 Xsl =X (Ly +dx)/2Ly = 2.807
exl =[Xsl-Xgl| = 1182  re.xl = sqrt( (SLx(y-ys)®+ XLy (5-Xs)?)/SLx) =  4.548
eyl =|Vsl-Ygl| =  0.621  re.yl = sqrt( (SLx(y-ys)®+ XLy (Xs)2)/SLy) =  3.403
IR KT - KITH 5 R0, 63

Re.x1 = eyl / re.xl =

Re.yl = exl / re.yl =

0.137 {RMBAREL eK1 =

0.347 {RIAREL eK1

.0 =

1.000

1
(2.3-Re)/(2(3. 33Ret0.5)) =

0.590




HIEEEEY) (2019/11/22 14:13)

1 WLLo

(F 8 H-2) LMl (S0

AL (BERYEMS 20 BEFS) R O OBEIEERH L 220

Vi Pwix Xi Pwiy

No. dy Lx Lx-dy dy-vys Lx(dy*ys)2 dx Ly Ly-dx dx-xs Ly(dX*Xs)2
o1 0.910]  5.916 5.383 | -1.897 21. 289
1102 0.910 |  2.958 2.692 | -1.897 10. 645
103 0.910| 8.874 8.075 | -1.897 31.934
104 0.910 |  4.414 4.017] -1.897 15. 884
W05 0.910 | 2.934 2.670 | -3.022 26. 795

Wog  0.910]  2.934 2.670 | -3.022 26. 795

o7 0.910]  2.934 9.670 | -3.022 26. 795

o 8.190 |  4.004 32.793 | 5.389  116.023
o  3.640 |  6.006 21.862 | -0.292 0.512

Wi 5.460 |  1.638 8.943 | 1.528 3.824

Wil 5.460 |  2.457 13.415 | 1.528 5. 737

Mg 10.010|  2.921 29.236 | 6.078  107.908

Wiy 8.190|  2.002 16.396 | 4.259 36. 207

W4 3.640 | 2.002 7.987| 0.833 1. 389
20 4.550 | 3.421 15.567 | 1.743 10. 393
W7 5.915 | 2.207 13.056 | 3. 108 21.319
Wog 1.820 |  2.002 3.644 | 0.987 1. 950
W30 6.825|  2.002 13.664 | 4.018 32. 321
i34 4.550 | 3.526 16.042 | 1.749 10. 712
W36 0.910 |  2.207 2.009 | -3.022 20. 155

fi49 0.910 |  5.868 5.340 | -1.897 21,117
S 26. 033 99. 871 954. 818 AT.194 | 127.560 294. 976
ML Ysl =% (Lx-dy)/2Lx = 3. 836 Xsl =X (Ly +dx)/2Ly = 2.703
exl =|Xsl-Xgl| =  1.286  re.xl = sqrt( (SLx(y-ys)®+ XLy (5-Xs)?)/SLx) =  4.596
eyl =|Vsl-Ygl| = 0.717  re.yl = sqrt( (SLx(y-ys)®+ XLy (Xs)2)/SLy) =  3.413
IR KT - KITH 5 R0, 63

Re.x1 = eyl / re.xl

Re.yl = exl / re.yl

0.156 RIBAREL eKl =

0.377 {RBAREL eKl

1/(3. 3Re+0.5) =
(2.3-Re) / (2(3. 33Re+0. 5)) =

0. 980

0. 550




HIEEEEY) (2019/11/22 14:13)

2B WL OFHE (BEELYEM /)7 B EHR)

(% 8 Ihi-3)

(FEEHF)

SRR 0 OBE LR L A2

Vi Pwix Xi Pwiy

No. dy Lx Lx-dy dy-vys Lx(dy*ys)2 dx Ly Ly-dx dx-xs Ly(d)rxs)2
ol 0.910] 1441 1.312| -3.217 15. 475
Wod  8.190| 4.164|  34.104| 3.378  47.431

03 4550 | 1.736 7.898 | 0.363 0. 229
o4 5.460 | 2. 144 11.706 | 0.645 0. 892

W05 3.640 | 4. 004 14.575 | -1.175 5.528

e 8.190 | 4.164|  34.104| 3.373 47431

W7 3.640 | 2,002 7.287 | -1.175 2. 764

W08 5.460 | 1261 6.886 | 1.273 2. 043
wod  1.s20| 1.159 2110 | -2.995 10. 396

W1 1550 | 2.082 9.473|  0.363 0.274
W1 0.910] 2. 082 1.895 | -3.905 31,748

WY 0.910| 2082 1.895 | -3.277  22.358
W3 0.910] 2. 082 1.895 | -3.905 31,748

W4 4.550 | 2002 9.109 | —0.265 0. 141

W15 4550 1361 6.194| 0.363 0.179
W6 5.460 | 1.006 5.493 | 0.645 0. 419

W7 5.460 |  1.006 5.493 | 0.645 0. 419

9 8.190| 2012 16.478 | 4,003 32. 240
w20 1.820] 1159 2110 | 2995 10. 396

> 26.970 | 129,881 189. 313 11. 980 50. 136 72.798
ML Ys2 =X (Lx+dy)/2Lx = 4.815 Xs2 =X (Ly * dx)/2Ly = 4,187
ex? =[Xs2-Xe2| = 0.244  re.x2 = sqri( (SLx(y-ys)°+ XLy (-Xs)9)/SLx) = 3.117
ev2 =|Vs2-Yg2| = 0.568  re.y2 = sqrt( (SLx(y-ys)®+ XLy (-Xs)9)/SLy) =  4.678
MR R KATH 5 AR50, 63

Re.x2 = ey2 / re.
Re.y2 = ex2 / re.

X2
y2

0.182 {EJBAREL ek2
0.052 RIBAREL eK2

1/ (3. 3Re+0. 5
1.0 =

) =

1.000

0.900




HIEEEEY) (2019/11/22 14:13)

2B WL OFHE (BEELYEM /)7 B EHR)

(F 8 H—4) LT (S0

SRR 0 OBE LR L A2

Vi Pwix Xi Pwiy

No. dy Lx Lx-dy dy-vys Lx(dy*ys)2 dx Ly Ly-dx dx-xs Ly(d)rxs)2
ol 0.910] 1966 1.789| -3.211 21112
w04 8.190| 6,057 49.607 | 3.375 68. 993

03 4550 | 2.207 10,043 | 0.363 0. 291
W04 5.460 | 6.916|  37.761| 0.645 2. 877

W05 3.640 | 4. 004 14.575 | -1.175 5.528

0§ 8.190 | 6,057 19.607 | 3.375 68. 993

W7 3.640 | 2,002 7.287 | -1.175 2. 764

W08 5.460 | 2,002 10.931| 1273 3. 244
wod  1.820| 4732 8612 | -2.995 42,446

W1 1550 | 3.028 13.780 | 0.363 0.399
W1 0.910] 3,028 2.756 | -3.908  46.174

WY 0.910| 3028 2,756 | -3.277 32.517
W3 0.910] 3,028 2.756 | -3.908  46.174

W4 4.550 | 2002 9.109 | —0.265 0. 141

W15 4550 | 2002 9.109| 0.363 0. 264
Wi§  5.460 | 3.003 16.396 | 0.645 1. 249

W7 5.460| 2183 11,920 | 0. 645 0. 908

9 8.190 | 4 366 35.761| 4003 69,961
w20 1.820| 2792 5081 | -2.995 25. 044

> 45.804 | 215, 467 311, 291 18.599 | 84,169 127,788
ML Ys2 =X (Lx+dy)/2Lx = 4.704 Xs2 =X (Ly * dx)/2Ly = 4.525
ex? =[Xs2-Xg2| = 0.582  re.x2 = sqrt( (SLx(y-ys)>+ XLy (-Xs)9)/SLx) =  3.096
ev2 =|Vs2-Yg2| = 0.457  re.y2 = sqrt( (SLx(y-ys)®+ XLy (-Xs)9)/SLy) =  4.859
MR R KATH 5 AR50, 63

Re.x2 = ey2 / re.
Re.y2 = ex2 / re.

X2 =
y2 =

0.148 {EJBAREL ek2
0.120 KIBFREL eK2

1.0 =
1.0 =

1. 000
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